H29R# &

(1) #esA=xk [&E:]) 3 _
_ 5% FER=30FE/ TR=20FK WE 20FE
HH 2| 2 " =
=l *ﬂ; m i HEEE R E P *;g BANE HEE
YT (F) (a) (M) (M) (/) (kg) (M)
P 2,349  77,859.4| 2,901,018, 000 36, 581, 680
2,232  72,785.4] 2,636,174, 000 32, 970, 206 563 935, 247| 162, 665, 350
i 797 14,691.6 430, 204, 000 6,990, 413
gl 792  13,675.8 412, 719, 000 6, 463, 740 141| 107,302 14,491, 690
T 153 3,183.7 131, 460, 000 2,071, 655
B 154 3,009. 9 115, 236, 000 1,812, 222 471 60,925| 15,419, 890
&z 3,209 95 ,734.7| 3,462, 682, 000 45, 643, T48 751 1, 103, 474| 192, 576, 930
BIERE 3,178 89,471.1| 3,164, 129, 000 41, 246, 168 405 531, 307| 69, 262, 750
RETFL | 03, 8% 107. 0% 109. 4% 110. 7%| 185.4%|  207. 7% 278. 0%
(41)—a #EAR [RES]
_ BI%: L EB=00% i/ FER-204 & WE 2EE
I -
HE 2| 2 ?& =
F % m % HEEE B £ F & | BRE HEE
X T4 (F) (a) (M) (A) (F) (kg) (M)
h o % 7 1,544  51,949.7| 2,056,507, 000 20, 672, 613
1,447|  48,095.9| 1,821, 387, 000 17, 844, 738 444| 794, 460| 148, 792, 620
_ 245 3,916. 0 143, 678, 000 1,802, 481
bR g 952 3, 846. 3 140, 302, 000 1, 758, 569 34| 27,197| 4,942, 900
o — 120 2,614.9 114, 400, 000 1, 648, 975
B 119 2,371.4 97, 189, 000 1, 362, 830 371 50,966| 13,641,290
& o 1,909|  58,480.6| 2,314,585, 000 24, 124, 069 515 872,623 167, 376, 810
B4R 1,631  47,091.2| 1,848,002, 000 20, 056, 662 241| 306, 344| 49, 820, 980
HETEL | 117 0y 124, 2% 125. 2% 120. 3% 213, 7% 284. 9% 336. 0%




H29R# &

()—b @mass (bt]
. 5|5 : EEX=30F /T ER=29%5 WHE20FE
i - .
HE 2| 2 W =
Fy | m o HHEI e | Foa | mnE | s#Ee
YT (F) (a) (A) (A) (/) (kg) (M)
P 624  22,673. 1 774,318,000 12,017, 224
601  21,374.2 743,977,000 11,247, 675 68| 84,631 8,347, 540
] 243 4,707.4 163, 293, 000 613, 344
gl 239 4,421.8 160, 522, 000 572, 133 10 6, 744 433, 420
e 13 265.9 10, 850, 000 126, 300
LB XA 12 265. 9 10, 650, 000 101, 365 1 2,130 356, 400
& 880| 27, 646. 4 948, 461, 000] 12, 756, 868 79| 93,505 9,137,360
B 742|  21,200.3 755, 275, 000 9, 878, 280 105|173, 215| 14,197,550
RETFL | 15 6% 130. 4% 125. 6% 129.1%|  75.2% 54. 0% 64. 4%
(4)—c #EAX [T1 1)
_ 518 +E=304 /T ER=20E 20
T .
HE 2| 2 ?& =
Fy | @ om | sEes e | 7 om | mme | sxe
X4 (F) (a) () () =) (kg) (M)
_ 132 2,201.6 49,823, 000 3,392, 778
FRRA 134 9.943. 3 49. 050, 000 3. 344 673 96|  22,731| 2,341,090
_ 309 6, 068. 2 123, 233, 000 4,574, 538
bR g 301 5. 407.7 111, 895, 000 4133, 038 97| 73.361| 9,115,370
o 12 177.0 4,500, 000 937,350
LA X R 15 990. 6 5. 007, 000 961, 987 9 7.829] 1,422, 200
& & 453 8, 446.8 177, 556, 000 8,204,716 132|  103,921| 12,878, 660
BiERE 450 7.871.6 165, 952, 000 7,739, 698 43| 25,203 2,846,820
HETEL | 100, 79 107. 3% 107. 0% 106. 0% 307.0% 412, 3% 152, 4%
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(4)—d #aB® (YAZ]
_ 5% FER=30F E/ TR=295F% WE 295 E
T - -
HE 3| 2 % =
P "x*g m & HESE B E P §£ TN = HES
X 4 (F) (a) () () (F) (kg) (M)
_ 0 0.0 0 ol - - -
FRRCAR 0 0.0 0 of - - -
e 7 107.9 1, 490, 000 53, 640
LA PR 8 152. 0 2,390, 000 86, 040 0 0 0
& &t 7 107.9 1, 490, 000 53, 640 0 0 0
YiERE 8 152. 0 2,390, 000 86, 040 1 2,229 309, 200
RBIFL | g7 5y 71. 0% 62. 3% 62.3%)  0.0% 0. 0% 0. 0%
(4)—e BAAR (BE]
_ 5|3 FER=304F &/ TE=29F k& BE 29EE
i - .
HE ] 2 e =
| @ @ #FSHE e | Fom | mme | aEe
Y (F) (a) (M) (M) (F) (kg) ()
_ 49 1,035.0 20, 370, 000 499, 065
R 50 1,072.0 21. 760, 000 533, 120 25| 33,425| 3,184,100
e 1 18.0 920, 000 5, 390
AL AR 3P 0 0.0 0 0 0 0 0
& & 50 1,053.0 20, 590, 000 504, 455 95| 33,425| 3,184,100
BI4ERE 50 1,072.0 21, 760, 000 533, 120 15| 24,316 2,088,200
HETELE | 100, 0% 98. 2% 94, 6% ot 6% 166.7%  137.5% 152. 5%




